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GROUP—A / ®¡àK—A

BOTANY / l¡ü[Š±ƒ[¤ƒ¸à

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

1. [>³—[º[Jt¡ ëA¡à>ô š¹ãÛ¡à[i¡¹ ÎàÒàì™¸ šø³à[ot¡ ÒÚ
ë™ CO2 ÎàìºàA¡Î}ìÅÃìÈ¹ \>¸ šøìÚà\>ãÚ?

(A) Moll’s half-leaf š¹ãÛ¡à

(B) Bell-jar š¹ãÛ¡à

(C) Thistle funnel š¹ãÛ¡à

(D) (B) &¤} (C) l¡ü®¡ÚÒü

2. šøà”zãÚ Å«Îì> [>[³—[º[Jt¡ ëA¡à>[i¡ šøà”zãÚ
ÒüìºA¡i¡ö> NøàÒA¡?

(A) "ào[¤A¡ CO2

(B) "ào[¤A¡ O2

(C) "ào[¤A¡ H2

(D) NADPH + H+

3. "à”z@ìA¡àÈãÚ Ñ‚à>Î³èÒ &¤} ëA¡àÈšøàW¡ãì¹¹ ³‹¸
[ƒìÚ \ìº¹ š[¹¤Ò>ìA¡ ¤ìº

(A) [Î³šÃà[Ê¡A¡ š[¹¤Ò>

(B) ëi¡àì>àšÃà[Ê¡A¡ š[¹¤Ò>

(C) "¸àìšàšÃà[Ê¡A¡ š[¹¤Ò>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

4. l¡üÄt¡ l¡ü[Š±ìƒ "[®¡A¡È¢ ¤ìº¹ [¤¹ç¡ì‡ý¡ \ìº¹
$‹¢³åJã š[¹¤Òì>¹ \>¸ ƒàÚã ¤º "àìÎ

(A) ¤àÍšì³àW¡> ë=ìA¡

(B) ÎàìºàA¡Î}ìÅÃÈ ë=ìA¡

(C) i¡öàXìºàìA¡Å> ë=ìA¡

(D) Å«Î> ë=ìA¡
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Direction : Answer the following questions

by selecting the correct option.

1. Which of the following experiments

proves that CO2 is essential for

photosynthesis?

(A) Moll’s half-leaf experiment

(B) Bell-jar experiment

(C) Thistle funnel experiment

(D) Both (B) and (C)

2. Which one of the following is the

terminal electron acceptor in

terminal respiration?

(A) Molecular CO2

(B) Molecular O2

(C) Molecular H2

(D) NADPH + H+

3. Movement of water through

intercellular spaces and walls of the

cells, is called

(A) symplastic movement

(B) tonoplastic movement

(C) apoplastic movement

(D) None of the above

4. In higher plants, the force

responsible for upward conduction

of water against gravity comes from

(A) transpiration

(B) photosynthesis

(C) translocation

(D) respiration



5. šàt¡àÚ Kranz anat omy ëƒJà ™àÚ

(A) C3 l¡ü[Š±ìƒ

(B) C4 l¡ü[Š±ìƒ

(C) CAM l¡ü[Š±ìƒ

(D) (A) &¤} (B) l¡ü®¡ÚÒü

6. ™J> ³i¡¹ ¤ã\ * K³ ¤ã\ \ìº ¹àJà ÒÚ t¡J>
& ƒå[i¡¹ ³ì‹¸ ëA¡à>[i¡ ë¤Åã \º im bibe

A¡¹ì¤?

(A) ³i¡¹ ¤ã\

(B) K³ ¤ã\

(C) l¡ü®¡ÚÒü Î³š[¹³ào \º im bibe A¡¹ì¤

(D) ³i¡¹ ¤ã\ Ç¡‹å³ày Û¡à¹ãÚ pH-& \º
im bibe A¡¹ì¤

7. "àìºàA¡Å«Îì>¹ ÎìU Î´šA¢¡™åv¡û¡ ëA¡àÈãÚ
"Uà>åP¡[º Òº

(A) ëAÃ¡àì¹àšÃàÊ¡, ³àÒüìi¡àA¡[rö¡Úà &¤}
ºàÒüìÎàì\à³

(B) ³àÒüìi¡àA¡[rö¡Úà, šà¹[Gì\à³ &¤}
ëÎì–i¡öàì\à³

(C) [>l¡ü[AÃ¡ÚàÎ, ëÎì–i¡öàì\à³ &¤} šà¹[Gì\à³

(D) ëAÃ¡àì¹àšÃàÊ¡, šà¹[Gì\à³ &¤} ³àÒüìi¡àA¡[rö¡Úà

8. ™J> š[¹ì¤Å Ç¡ÍH =àìA¡, \ìº¹ "šW¡Ú ÒùàìÎ¹
Ñ¬àì=¢ QàÎ \àt¡ãÚ l¡ü[Š±ìƒ¹ šàt¡à ™à¹ l¡üš[Ñ‚[t¡¹
\>¸ ë®¡t¡ì¹¹ [ƒìA¡ ë¤òìA¡ ™àÚ ëÎ[i¡ Òº

(A) šå¹ç¡ [A¡l¡ü[i¡A¡º

(B) ¤õÒ; \àÒüìº³KÔ¹

(C) Î³à”z¹àº [Å¹à[¤>¸àÎ

(D) ¤å[ºó¡³¢ ëA¡àÈ
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5. Kranz anatomy is found in the

leaves of 

(A) C3 plants

(B) C4 plants

(C) CAM plants

(D) Both (A) and (B)

6. When pea seeds and wheat seeds

are put in water, which of the two

will imbibe more water?

(A) Pea seeds

(B) Wheat seeds

(C) Both will imbibe equal amount

of water

(D) Pea seeds imbibe water only at

alkaline pH

7. Cell organelles associated with

photorespiration are

(A) chloroplast, mitochondria and

lysosome

(B) mitochondria, peroxisome and

centrosome

(C) nucleus, centrosome and

peroxisome

(D) chloroplast, peroxisome and

mitochondria

8. When the conditions are dry, a grass 

leaf curls inward to minimize water

loss due to presence of

(A) thick cuticle

(B) large xylem cavities

(C) parallel venation

(D) bulliform cells



9. Hy dro pon ics Òº &³> &A¡[i¡ š‡ý¡[t¡ ë™Jàì> 
l¡ü[Š±ìƒ¹ ¤õ[‡ý¡ Qìi¡

(A) [¤Ç¡‡ý¡ \ìº

(B) ¤àÚåìt

(C) "t¡¸à¤Å¸A¡ãÚ š[¹ìšàÈA¡Î³[Þt¡ \ìº

(D) ³à[i¡ìt¡

10. "¸à¤[Î[ÎA¡ "¸à[Îl¡ šøà=[³A¡®¡àì¤ Î}ìÅÃ[Èt¡ ÒÚ

(A) ºàÒüìÎàì\àì³

(B) ëAÃ¡àì¹àšÃàìÊ¡

(C) Kº[K¤Ññìt¡

(D) ¹àÒüì¤àì\àì³

11. [Å´¬ìKàyãÚ l¡ü[Š±ìƒ¹ ³èìº¹ "¤å¢ìƒ \ã¤\
>àÒüìi¡öàì\> Î}¤Þê¡>A¡àìº ëºK[Òì³àìNÃà[¤ì>¹
A¡à\ Òº

(A) ¤àÚå³r¡ìº¹ >àÒüìi¡öàì\>ìA¡ "¸àì³à[>Úàìt¡
š[¹ot¡ A¡¹à

(B) "¸àì³à[>ÚàìA¡ >àÒüi¡öàÒüìi¡ š[¹ot¡ A¡¹à

(C) >àÒüìi¡öàì\ì>¹ [yû¡ÚàÅãºt¡à¹ \>¸ "[Gì\>
š[¹¤Ò> A¡¹à

(D) >àÒüìi¡öà[\ì>\ìA¡ "[Gì\ì>¹ Òàt¡ ë=ìA¡
¹Û¡à A¡¹à

12. [>³—[º[Jt¡ ëA¡à>[i¡ l¡ü[Š±ìƒ¹ >àÒüìi¡öàì\>[¤Òã>
ë¹W¡>šƒà=¢?

(A) ³¹[ó¡>

(B) i¡¸à[>>

(C) ë¹Îà¹[š>

(D) l¡àiå¡[¹>
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9. Hydroponics is the growth of plants

in

(A) pure water

(B) air

(C) water-containing essential

nutrients 

(D) soil

10. Abscisic acid is primarily

synthesized in

(A) lysosome

(B) chloroplast

(C) Golgi body

(D) ribosome

11. The function of leghaemoglobin

during biological nitrogen fixation in 

root nodules of legumes is to

(A) convert atmospheric nitrogen to

ammonia

(B) convert ammonia to nitrite

(C) transport oxygen for activity of

nitrogenase

(D) protect nitrogenase from oxygen

12. Which one of the following is the

non-nitrogenous excretory product

in plants?

(A) Morphine

(B) Tannin

(C) Reserpine

(D) Daturine



13. ëA¡à>[i¡¹ ">åš[Ñ‚[t¡¹ \>¸ ëA¡àÈšøàW¡ãì¹ Aè¡š ¤à
[ši¡ ëƒJà ™àÚ?

(A) ³‹¸Záƒà

(B) ëA¡àÈšàt¡

(C) šøà=[³A¡ šøàW¡ã¹ Kk¡>A¡à¹ã l¡üšàƒà>

(D) ëKïo šøàW¡ã¹ Kk¡>A¡à¹ã l¡üšàƒà>

14. [>³—[º[Jt¡ ë³ïºP¡[º¹ ³ì‹¸ ëA¡à>P¡[º \ìº¹
"àìºàA¡[¤ìÅÃÈìo¹ \>¸ šøìÚà\>ãÚ?

(A) Ca &¤} Cl

(B) Mn &¤} Cl

(C) Zn &¤} Mn

(D) Cu &¤} Fe

15. ëyû¡¤ÎW¡ìyû¡ l¡ü;šÄ "”z¤t¢¡ã ë™ïK a-[A¡ìi¡àNÃåi¡à[¹A¡ 
"¸à[Îl¡ Òº &A¡[i¡

(A) 5-A¡à¤¢> ë™ïK

(B) 6-A¡à¤¢> ë™ïK

(C) 4-A¡à¤¢> ë™ïK

(D) 3-A¡à¤¢> ë™ïK

16. [>Ñ÷à¤o šø‹à>t¡ ë™ A¡à¹ìo Qìi¡ t¡à Òº

(A) "[®¡Ñ÷¤o

(B) ¤àÍšì³àW¡>

(C) ³èº\ W¡àš

(D) "àu®è¡[t¡
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13. Pits found in cell wall are due to lack 

of 

(A) middle lamella

(B) cell plate

(C) primary wall material

(D) secondary wall material

14. Which of the following elements are

essential for the photolysis of water? 

(A) Ca and Cl

(B) Mn and Cl

(C) Zn and Mn

(D) Cu and Fe

15. a-ketoglutaric acid, an intermediate

compound of Krebs’ cycle, is a

(A) 5-carbon compound

(B) 6-carbon compound

(C) 4-carbon compound

(D) 3-carbon compound

16. Guttation is mainly due to

(A) osmosis

(B) transpiration

(C) root presure

(D) imbibition



17. "Så¡ì¹àƒÿKì³¹ Î³Ú ¤ãì\ Î[e¡t¡ Jàìƒ¸¹ Îe¡àº> 
ÒÚ ™à¹ šø®¡àì¤ ëÎ[i¡ Òº

(A) ABA

(B) [\ì¤kì¹[À>¡

(C) ÎàÒüìi¡àA¡àÒü[>>

(D) Òü[=[º>

18. l¡ü[Š±ƒìA¡àìÈ &A¡[i¡ ëA¡–ƒøãÚ ëA¡àÈKÔ¹ìA¡ [Qì¹
ÎàÒüìi¡àšÃà\ì³¹ &A¡[i¡ [>[ƒ¢Ê¡ [ƒìA¡ "à¤t¢¡>ìA¡
¤ìº

(A) Îà¹Aå¡ìºÅà>

(B) ë¹àìi¡Åà>

(C) ëÎà³à¹ÎÂi¡

(D) ë¹P¡ìºÅà>

19. i¡ì³ìi¡à¹ ºàº ¹ìR¡¹ \>¸ ƒàÚã ¹gA¡[i¡ Òº

(A) b-A¡¸àì¹à[i¡>

(B) "¸àì”‚àÎàÚà[>>

(C) ºàÒüìA¡à[š>

(D) &[¹ì=øàÎàÚà[>>

20. ëš[¹l¡à³¢ "”z®å¢¡v¡û¡ A¡ì¹

(A) ëó¡ìº³, ëó¡ìºàl¡à³¢ &¤} [šÃì¹à³

(B) ëó¡ìº³, ëó¡ìºàì\> &¤} l¡à¹³àìi¡àì\>

(C) ëó¡ìº³, ëó¡ìºàì\> &¤} A¡ìi¢¡G

(D) ëó¡ìº³, ëó¡ìºàì\> &¤} ëó¡ìºàl¡à³¢
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17. Mobilization of stored food in

germinating seed is triggered by

(A) ABA

(B) gibberellin

(C) cytokinin

(D) ethylene

18. Movement of cytoplasm around the

single central vacuole in a particular 

direction in a plant cell is called

(A) circulation

(B) rotation

(C) somersault

(D) regulation

19. Red colour of tomato is due to

(A) b-carotene

(B) anthocyanin

(C) lycopene

(D) erythrocyanin

20. Periderm includes

(A) phellem, phelloderm and

plerome

(B) phellem, phellogen and

dermatogen

(C) phellem, phellogen and cortex

(D) phellem, phellogen and

phelloderm



21. ë™ ëA¡àÈãÚ "Uàoåìt¡ K¹ç¡¹KàØl¡ã¹ W¡àA¡à¹ ³ìt¡à
Î}Kk¡> ëƒJà ™àÚ ëÎ[i¡ Òº

(A) ³àÒüìyû¡à[ó¡ºàì³–i¡

(B) ëÎ[–i¡ö*º

(C) ³àÒüìyû¡à[i¡l¡ü[¤l¡üº

(D) ë¤Îàº ëšÃi¡

22. [‡¤ã\šyã ³èìº, šàÅ«ã¢Ú³èº Îõ[Ê¡¹ ÎèW¡>à ÒÚ

(A) &ìr¡àl¡à¹[³ìÎ¹ ëA¡àìÈ

(B) A¡ìi¢¡ìG¹ ëA¡àìÈ

(C) &[šl¡à¹[³ìÎ¹ ëA¡àìÈ

(D) š[¹W¡ìyû¡¹ ëA¡àìÈ

23. Î¤¢à[‹A¡ š[¹³àìo A¡¸àº[ÎÚà³ ëšA¡ìi¡i¡ šà*Úà
™àÚ

(A) šøà=[³A¡ ëA¡àÈšøàW¡ãì¹

(B) ëKïo ëA¡àÈšøàW¡ãì¹

(C) ³‹¸Záƒàìt¡

(D) ëA¡àÈ"à¤¹oãìt¡

24. &A¡[i¡ Î³[‡šàÅ«¢ãÚ >à[ºA¡à¤à[r¡ìº A¡ºà¹
Îðàyû¡³ Òº

(A) ¤[Ò@ëóÃ¡àìÚ³ ® ¤[Ò@\àÒüìº³ ®
¤[Ò@A¡¸à[´¬Úà³ ® "”z@\àÒüìº³ ®
"”z@ëóÃ¡àìÚ³

(B) ¤[Ò@A¡¸à[´¬Úà³ ® ¤[Ò@ëóÃ¡àìÚ³ ®
\àÒüìº³ ® "”z@ëóÃ¡àìÚ³ ®
"”z@A¡¸à[´¬Úà³

(C) ¤[Ò@ëóÃ¡àìÚ³ ® ¤[Ò@A¡¸à[´¬Úà³ ®
\àÒüìº³® "”z@A¡¸à[´¬Úà³ ®
"”z@ëóÃ¡àìÚ³

(D) ¤[Ò@\àÒüìº³ ® ¤[Ò@A¡¸à[´¬Úà³ ®
ëóÃ¡àìÚ³ ® "”z@A¡¸à[´¬Úà³ ®
"”z@\àÒüìº³
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21. Cell organelle having a cartwheel

constitution is

(A) microfilament

(B) centriole

(C) microtubule

(D) basal plate

22. In dicotyledonous roots, initiation of

lateral roots takes place in

(A) endodermal cells

(B) cortical cells

(C) epidermal cells

(D) pericycle cells

23. The maximum amount of calcium

pectate is present in

(A) primary cell wall

(B) secondary cell wall

(C) middle lamella

(D) cell membrane

24. A bicollateral vascular bundle has

the following arrangement of tissues

(A) Outer phloem ® outer xylem

 ® outer cambium ® inner

xylem ® inner phloem

(B) Outer cambium ® outer

phloem ® xylem® inner phloem

 ®  inner cambium

(C) Outer phloem ® outer cambium  

® xylem ® inner cambium

 ® inner phloem

(D) Outer xylem ® outer  cambium 

® phloem ® inner

cambium ®  inner xylem



25. š¹àKì¹oå¹ ¤[Ò@ŒA¡ K[k¡t¡ ÒÚ

(A) ëšìC¡àìÎºåìºà\ ‡à¹à

(B) [ºKì>àìÎºåìºà\ ‡à¹à

(C) ëšàìº> [A¡i¡ ‡à¹à

(D) ëÑšàì¹àìšàìº[>> ‡à¹à

26. ®è¡[³A¡ºà¹ ëA¡–ƒøãÚ "}Å, ³ðà Îà‹à¹ot¡@ K[k¡t¡
ÒÚ

(A) š¸àì¹>A¡àÒü³à ‡à¹à

(B) ëA¡àìº>A¡àÒü³à ‡à¹à

(C) ëAÃ¡àì¹>A¡àÒü³à ‡à¹à

(D) ëÑHºì¹>A¡àÒü³à ‡à¹à

27. &A¡[i¡ P¡œ¡¤ã\ã l¡ü[Š±ìƒ¹ šàt¡àÚ 16[i¡
ëyû¡àì³àì\à³ "àìá¡ú &¹ ÎìÎ¸ l¡üš[Ñ‚t¡
ëyû¡àì³àì\àì³¹ Î}J¸à Òº

(A) 16

(B) 24

(C) 12

(D) 8

28. [‡¤ã\šyã l¡ü[Š±ìƒ Nøàó¡[i¡} Îó¡º®¡àì¤ A¡¹à ™àÚ
[A¡”ñ &A¡¤ã\šyã l¡ü[Š±ìƒ t¡à A¡¹à ™àÚ >à, A¡à¹o
[‡¤ã\šyã l¡ü[Š±ìƒ

(A) >à[ºA¡à¤à[r¡ºP¡[º ¤ºÚàA¡àì¹ Î[ðt¡ =àìA¡

(B) ëKïo¤õ[‡ý¡¹ \>¸ A¡¸à[´¬Úàì³¹ l¡üš[Ñ‚[t¡

(C) ¤à[ÒA¡à¹ l¡üšàƒà> &A¡šøà”z ë=ìA¡ "š¹šøà”z
š™¢”z Î[ðt¡ =àìA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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25. Exine of pollen grain is made up of 

(A) pectocellulose

(B) lignocellulose

(C) pollen kit

(D) sporopollenin

26. Pith, the central part of ground

tissue, is generally made up of

(A) parenchyma

(B) collenchyma

(C) chlorenchyma

(D) sclerenchyma

27. An angiospermic leaf carries 16

chromosomes. The number of

chromosomes in its endosperm will

be

(A) 16

(B) 24

(C) 12

(D) 8

28. Grafting is successful in

dicotyledonous plants but not in

monocotyledonous plants because

dicotyledonous plants have

(A) vascular bundles arranged in a

ring

(B) cambium for secondary growth

(C) vesels with element arranged

end to end 

(D) None of the above



29. &A¡[i¡ ëÒi¡àì¹à\àÒüKàÎ º´¬à (Tt) ³i¡¹ Kàìá¹
Î[Òt¡ &A¡[i¡ ëÒàì³à\àÒüKàÎ J¤¢ (tt) ³i¡¹ Kàìá¹ 
Î}A¡¹àÚo A¡¹à Òº¡ú š¹¤t¢¡ã "št¡¸ ¤}ìÅ A¡t¡
Åt¡à}Å J¤¢ Kàá l¡ü;šÄ Òì¤?

(A) 0%

(B) 50%

(C) 25%

(D) 100%

30. Contagium vivum fluidum

(Î}yû¡³oì™àK¸ Î\ã¤ t¡¹º) [¤¤õ[t¡[i¡ A¡à¹
ëƒ*Úà?

(A) Ivanowsky

(B) Stanley

(C) Pasteur

(D) Beijerinck

31. "àºå¹ Ñ£¡ãt¡A¡–ƒ ¤à [i¡l¡ü¤àì¹¹ ‘W¡Ûå¡’ Òº

(A) šåÍš ³åAå¡º

(B) [¤i¡š ³åAå¡º

(C) A¡à[Û¡A¡ ³åAå¡º

(D) ³èº\ ³åAå¡º

32. Kì³¹ ºå\ Ñ¶ài¡ ë¹àKÎõ[Ê¡A¡à¹ã \ã¤àoå[i¡ Òº

(A) Phytophthora infestans

(B) Cercospora personata

(C) Ustilago tritici

(D) Alternaria solani
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29. A heterozygous tall (Tt) pea plant is

crossed with a homozygous dwarf

(tt) pea plant. What will be the

percentage of dwarf plants in the

next generation?

(A) 0%

(B) 50%

(C) 25%

(D) 100%

30. The statement—contagium vivum

fluidum (infectious living fluid) was

given by

(A) Ivanowsky

(B) Stanley

(C) Pasteur

(D) Beijerinck

31. The ‘eyes’ of potato tuber are

(A) flower buds

(B) shoot buds

(C) axillary buds

(D) root buds

32. Loose smut of wheat is caused by

(A) Phytophthora infestans

(B) Cercospora personata

(C) Ustilago tritici

(D) Alternaria solani



33. [‡t¡”|ã RNA šà*Úà ™àÚ

(A) [¹*®¡àÒü¹àìÎ

(B) TMV ët¡

(C) f X 174 (phiX 174) ët¡

(D) A¡[ºó¡àì\

34. AABBCC × aabbcc Î}A¡¹àÚìo¹ ó¡ìº
l¡ü;šÄ F1 \ã¤ ë=ìA¡ A¡t¡ ‹¹ì>¹ K¸àì³i¡ ít¡[¹
Òìt¡ šàì¹?

(A) 3

(B) 8

(C) 27

(D) 64

35. [l¡´¬A¡ [l¡´¬àÅìÚ¹ šøàW¡ã¹[Ñ‚t¡ "³¹à¹ Îàì= ™à¹
ÎàÒàì™¸ ™åv¡û¡ =àìA¡ ëÎ[i¡ Òº

(A) [l¡´¬A¡¤õ”z

(B) [l¡´¬A¡>à[®¡

(C) ¹àìó¡

(D) [l¡´¬A¡³èº

36. >àÒüìi¡öi¡ ë™ïK >àÒüìi¡öàì\ì> ¹ê¡šà”z[¹t¡ ÒÚ ™à¹
‡à¹à t¡à¹à Òº

(A) >àÒüìi¡öàì\>-[Ñ‚[t¡A¡à¹ã ¤¸àA¡[i¡[¹Úà

(B) "¸àì³à[>ó¡àÒü} ¤¸àA¡[i¡[¹Úà

(C) [l¡>àÒü[i¡öó¡àÒü} ¤¸àA¡[i¡[¹Úà

(D) >àÒü[i¡öó¡àÒü} ¤¸àA¡[i¡[¹Úà
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33. Double-stranded RNA is found in

(A) reovirus

(B) TMV

(C) f X 174 (phiX 174)

(D) coliphage

34. How many different types of gametes 

can be formed by F1 progeny

resulting from the cross AABBCC ×

aabbcc?

(A) 3

(B) 8

(C) 27

(D) 64

35. Ovule is attached to placenta of

ovary wall by

(A) funiculus

(B) hilum

(C) raphe

(D) chalaza

36. Nitrates are converted into nitrogen

by 

(A) nitrogen-fixing bacteria

(B) ammonifying bacteria

(C) denitrifying bacteria

(D) nitrifying bacteria



37. Òüsi¡à¹ó¡¸à[ÎAå¡ºà¹ A¡¸à[´¬Úà³ Òº

(A) šøà=[³A¡ ®¡à\A¡A¡ºà

(B) šøàÒü³¹[l¡Úàº ®¡à\A¡A¡ºà

(C) &A¡šøA¡à¹ ëšøàìi¡àl¡à³¢

(D) ëKïo ®¡à\A¡A¡ºà

38. ¤}ÅK[t¡¹ ëyû¡àì³àì\à³ãÚ t¡ìw¹ šø¤v¡û¡à Òìº>

(A) Bateson &¤} Punnett

(B) Sutton &¤} Boveri

(C) Mor gan

(D) de Vries

39. &A¡[i¡ "àƒÅ¢ [‡Î}A¡¹ \>ì> [‡t¡ãÚ "št¡¸ ¤}ìÅ 
l¡ü®¡Ú í¤[ÅìÊ¡¸¹ ëÒàì³à\àÒüKàÎ \ãì¤¹
"à[¤®¢¡àì¤¹ Î´±à¤>à A¡t¡i¡à?

(A)
3

4

(B)
4

16

(C)
5

16

(D)
2

4

40. ¹àÒüì¤àì\à³ ™à¹ Îàì= &ìr¡àšÃà\³ãÚ \à[ºA¡à¹
Kàìy ™åv¡û¡ =àìA¡ ëÎ[i¡ Òº

(A) ³¸àKì>[ÅÚà³

(B) ëšši¡àÒül¡àº i¡öàXó¡àì¹\

(C) ¹àÒüì¤àìó¡à[¹>

(D) t-RNA
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37. Interfascicular cambium is a 

(A) primary meristematic tissue

(B) primordial meristem

(C) type of protoderm

(D) secondary meristematic tissue

38. The chromosomal theory of

inheritance was put foroward by

(A) Bateson and Punnett

(B) Sutton and Boveri

(C) Morgan

(D) de Vries

39. What is the probability of occurance

of homozygous individuals for both

characters in F2 generation of a

typical dihybrid cross?

(A)
3

4

(B)
4

16

(C)
5

16

(D)
2

4

40. Ribosomes are attached to

endoplasmic reticulum through

(A) magnesium

(B) peptidyl transferase

(C) ribophorins

(D) t-RNA



41. ëA¡à>[i¡ &ìr¡àì³³ì¤ø> [ÎìÐ¡ì³¹ "}Å >Ú?

(A) Kº[K¤Ññ

(B) ëA¡àÈKÔ¹

(C) &ìr¡àšÃà\³ãÚ \à[ºA¡à

(D) ¹àÒüì¤àì\à³

42. ëA¡à>[i¡ "àKàáà>àÅA¡ [ÒÎàì¤ ¤¸àšA¡®¡àì¤ ¤¸¤Òê¡t¡ 
ÒÚ?

(A) 2, 4-D

(B) IBA

(C) IAA

(D) ABA

43. ë¹A¡àì¹¹ ƒà>à šà*Úà ™àÚ

(A) ëyû¡àì³àì\àì³

(B) ³àÒüìi¡àA¡>[l¡öÚàìt¡

(C) [>l¡ü[AÃ¡ÚàìÎ

(D) Kº[K¤Ññìt¡¡

44. Òü[l¡*¤ÃàÊ¡ Òº

(A) ëA¡àìº>A¡àÒü³à ëA¡àÈ

(B) A¡¸àº[ÎÚà³ A¡à¤¢ì>i¡ &¤} A¡¸àº[ÎÚà³
"Gàìºìi¡¹ [yÊ¡àº

(C) [¤ìÅÈ ‹¹ìo¹ ëÑHº¹àÒüi¡

(D) "\ã¤ãÚ ¤Ññ Î³[Þt¡ [¤ìÅÈ ‹¹ìo ¹
š¸àì¹>A¡àÒü³à ëA¡àÈ
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41. Which one is not the part of

endomembrane system?

(A) Golgi body

(B) Vacuole

(C) Endoplasmic reticulum

(D) Ribosome

42. Which one is widely used as

weedicide?

(A) 2, 4-D

(B) IBA

(C) IAA

(D) ABA

43. Racker’s particles occur in

(A) chromosomes

(B) mitochondria

(C) nucleus

(D) Golgi apparatus

44. Idioblasts are

(A) collenchymatous cells

(B) crystals of calcium carbonate

and calcium oxalate

(C) special types of sclereids

(D) special parenchymatous cells

having ergastic substances



45. B &¤} O ¤Ãàl¡ Nøç¡š[¤[ÅÊ¡ [št¡à³àt¡à¹
Î”zà>Î”z[t¡ìƒ¹ Î´±à¤¸ ¤Ãàl¡ Nøç¡š [A¡ Òì¤?

(A) ÎA¡º [ÅÇ¡Òü O ¤Ãàl¡ Nøç¡š[¤[ÅÊ¡ Òì¤

(B) [ÅÇ¡¹à B &¤} O l¡ü®¡Ú ¤Ãàl¡ Nøç¡š[¤[ÅÊ¡
Òì¤

(C) ÎA¡º [ÅÇ¡¹à B ¤Ãàl¡ Nøç¡š[¤[Å[Ê¡ Òì¤

(D) [ÅÇ¡¹à  A &¤} B l¡ü®¡Ú ¤Ãàl¡ Nøç¡š[¤[ÅÊ¡
Òì¤

46. A¡à[º ít¡[¹¹ \>¸ šøìÚà\>ãÚ K¸à[ºA¡ "¸à[Îl¡ ë™ 
\ã¤àoå¹ ÎàÒàì™¸ šà*Úà ™àÚ ëÎ[i¡ Òº

(A) Aspergillus niger

(B) Agaricus campestris

(C) Streptococcus lactis

(D) Lactobacillus bulgaricus

47. ®¡àÒü¹àÎ Î}yû¡³o Îà‹à¹ot¡@ ëƒJà ™àÚ >à

(A) ëóÃ¡àìÚ³ ëA¡àÈ

(B) \àÒüìº³ ëA¡àÈ

(C) ³ðà ëA¡àÈ

(D) "NøÑ‚ ®¡à\A¡A¡ºàÚ
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45. What is the possible blood group in

children from the parents with B

and O blood groups?

(A) All children with O blood group

(B) The children are with both B

and O blood group

(C) All children are with B blood

group

(D) The children are with both A

and B blood groups

46. Galic acid used in making ink is

obtained with the help of

(A) Aspergillus niger

(B) Agaricus campestris

(C) Streptococcus lactis

(D) Lactobacillus bulgaricus

47. Viral infection is usually absent in

(A) phloem cells

(B) xylem cells

(C) pith cells

(D) apical meristem



48. ¹àÎàÚ[>A¡Kt¡®¡àì¤ l¡ü[Š±ìƒ¹ ë¹W¡> šƒà=¢ Kòƒ
(gum) Òº

(A) ºàÒüìšàìšøà[i¡>

(B) \[i¡º A¡àì¤¢àÒàÒüìl¡öi¡

(C) ëÐ¡¹ìÚl¡

(D) i¡öàÒü[NÃÎà¹àÒül¡

49. C3 l¡ü[Š±ìƒ¹ tå¡º>àÚ C4 l¡ü[Š±ìƒ &A¡ "oå
ëÒìGà\ ÅA¢¡¹à l¡ü;šàƒì>¹ \>¸ A¡t¡P¡[º
"[t¡[¹v¡û¡ ATP "oå¹ šøìÚà\> ÒÚ?

(A) 1

(B) 2

(C) 0

(D) 12

50. ¹Û¡ãìA¡àìÈ K +  \ì³ ™à*Úà¹ šø®¡à¤ [A¡ Òì¤?

(A) \º[¤®¡¤ ¤õ[‡ý¡ šàì¤

(B) \º[¤®¡¤ ÒùàÎ šàì¤

(C) ¹ÎÑ£¡ã[t¡ ÒùàÎ šàì¤

(D) ¤[Ò@"[®¡Ñ÷¤o Òì¤
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48. Chemically gums (excretory product

of plants) are

(A) lipoproteins

(B) complex carbohydrates

(C) steroids

(D) triglycerides

49. As compared to C3 plants, how

many additional ATP molecules are

needed for net production of one

molecule of hexose sugar by C4

plants?

(A) 1

(B) 2

(C) 0

(D) 12

50. What will be the effect of

accumulation of K + in guard cells?

(A) Water potential increases

(B) Water potential decreases

(C) There is a loss of turgidity

(D) Exosmosis occurs



GROUP—B / ®¡àK—B

ZOOLOGY / šøàoã[¤ƒ¸à

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

51. "[Ñ‚™åv¡û¡ ³àìá óå¡ºA¡à¹ (gill) Î}J¸à Òº

(A) 2 ë\àØl¡à

(B) 4 ë\àØl¡à

(C) 5 ë\àØl¡à

(D) 6 ë\àØl¡à

52. ëAò¡ìW¡à¹ ëƒìÒ¹ ëA¡à> ëƒÒJr¡ ¤¸[t¡t¡¡ ÎA¡º
ëƒÒJr¡ìt¡¡ [Îi¡à ëƒJà ™àÚ?

(A) ëÅÈ ëƒÒJr¡ìt¡¡¡

(B) šø=³ ëƒÒJr¡ìt¡

(C) AÃ¡àÒüìi¡ºà¹ ëƒÒJr¡ìt¡

(D) šø=³, ëÅÈ &¤} AÃ¡àÒüìi¡ºà¹ ëƒÒJr¡ìt¡

53. "à¹ìÅàºà¹ [Òì³àÎàÒüi¡

(A) ëƒìÒ¹ [¤[®¡Ä "}ìÅ šà[W¡t¡¡ Jàìƒ¸¹
Ñ‚à>à”z¹o A¡ì¹ 

(B) ó¡¸àìKàÎàÒüi¡ [ÒÎàì¤ A¡à\ A¡ì¹

(C) [Òì³àìNÃà[¤>[¤Òã> ÒÚ

(D) (B) &¤} (C) l¡ü®¡ÚÒü
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Direction : Answer the following questions

by selecting the correct option.

51. The number of gills present in

Osteichthyes (bony fishes) is

(A) 2 pairs

(B) 4 pairs

(C) 5 pairs

(D) 6 pairs

52. Setae are found in all body segments 

of earthworm, except

(A) last segment

(B) first segment

(C) clitellar segment

(D) first, last and clitellar segments

53. In cockroach, the haemocytes

(A) transfer the digested food to the

various parts of the body

(B) act as phagocytes

(C) lack haemoglobin

(D) Both (B) and (C)



54. ëA¡à>ô ƒÅàÚ ë¤³t¡”ñ Kk¡>A¡à¹ã ëšøà[i¡ì>¹ Î}ìÅÃÈ
Qìi¡?

(A) G1-ƒÅàÚ

(B) G2-ƒÅàÚ

(C) S-ƒÅàÚ

(D) "¸à>àìó¡ì\

55. l¡à¹l¡üÒüì>¹ šà[J (Darwin’s finches)
[>³—[º[Jt¡ ëA¡à>[i¡¹ ®¡àìºà l¡üƒàÒ¹o?

(A) Òü>l¡àÎ[i¡öÚàº ë³ºà[>\³

(B) A¡àì>A¡[i¡} [ºS¡

(C) "¸àl¡àš[i¡®¡ ë¹[l¡ìÚÅ>

(D) A¡>®¡à¹ì\–i¡ Òüì®¡à[ºl¡üÅ>

56. ë¤àìK>[®¡[ºÚà¹ Aò¡ài¡à &¤} Aå¡³ìØl¡à¹ "àA¡È¢ Òº

(A) Î³¤õv¡ãÚ "ìU¹ l¡üƒàÒ¹o

(B) Î³Î}Ñ‚ "ìU¹ l¡üƒàÒ¹o

(C) ºåœ¡šøàÚ "ìU¹ l¡üƒàÒ¹o

(D) ë¹ìi¡öàìNø[Î®¡ [¤¤t¢¡ì>¹ l¡üƒàÒ¹o

/14 16

54. In which phase proteins for spindle

fibre formation are synthesized?

(A) G1–phase

(B) G2–phase

(C) S–phase

(D) Anaphase

55. Darwin’s finches are a good example 

of 

(A) industrial melanism

(B) connecting link

(C) adaptive radiation

(D) convergent evolution

56. Thorns of Bougainvillea and tendrils

of Cucurbita are examples of

(A) analogous organs

(B) homologous organs

(C) vestigial organs

(D) retrogressive evolution



57. [>³—[º[Jt¡ ëA¡à>[i¡ l¡à¹l¡üÒü[>\³ ¤¸àJ¸à A¡¹ìt¡
šàì¹[>?

(A) šøàAõ¡[t¡A¡ [>¤¢àW¡>

(B) "[ÑzìŒ¹ \>¸  Î}Nøà³

(C) ë™àK¸t¡ì³¹ "à[¤®¢¡à¤

(D) >tå¡> šø\à[t¡¹ Îõ[Ê¡

58. ÒàUì¹¹ ŒA¡ "à¤õt¡ =àìA¡

(A) ÎàÒüAÃ¡ìÚl¡ "òàÅ ‡à¹à

(B) šÃ¸àA¡ìÚl¡ "òàÅ ‡à¹à

(C) [i¡>ìÚl¡ "òàÅ ‡à¹à

(D) K¸à>ìÚl¡ "òàÅ ‡à¹à

59. šàÚ¹à¹ šø[t¡[i¡ l¡à>àÚ ë¹[³ì\ìÎ¹ Î}J¸à Òº

(A) 23 [i¡

(B) 24 [i¡

(C) 12 [i¡

(D) 18 [i¡

60. š¹\ã¤ã Jàƒ¸ÅõTìº, Î}J¸à¹ [š¹à[³l¡ ÒÚ

(A) l¡ü‹k¢³åJã¡

(B) *Âi¡àì>à

(C) í¹[JA¡

(D) (A) &¤} (B) l¡ü®¡ÚÒü
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57. Which one of the following was not

explained by the Darwinism?

(A) Natural Selection

(B) Struggle for Existence

(C) Arrival of the Fittest

(D) Formation of new Species

58. The skin of shark is covered with

(A) cycloid scale

(B) placoid scale

(C) ctenoid scale

(D) ganoid scale

59. The  number of remiges in each wing 

of pigeon is

(A) 23

(B) 24

(C) 12

(D) 18

60. In parasitic food chain, the pyramid

of number is

(A) upright

(B) inverted

(C) linear

(D) Both (A) and (B)



61. A¡>iå¡¹ ó¡à[³¢} šøàÚÒü šøìÚàK A¡¹à ÒÚ

(A) šàÒàØl¡ã "e¡ìº

(B) ¤àºåA¡à³Ú "e¡ìº

(C) Î³å‰t¡ìi¡

(D) l¡üšì¹¹ Î¤A¡Ú[i¡¡

62. ëAò¡ìW¡àìt¡ Ñ¬[>ìÈA¡ ëƒJà ™àÚ >à, A¡à¹o &ìt¡
ëƒJà ™àÚ

(A) ëšøàìi¡àKàÒü[>

(B) &[šKàÒü[>

(C) ëšøài¡¸à>[l¡ö

(D) ÒàÒüìšàKàÒü[>

63. "à¹ìÅàºà¹ Òê¡;[šr¡ "¤Ñ‚à> A¡ì¹

(A) šàÅ«¢ìƒìÅ

(B) šõË¡ìƒìÅ

(C) "S¡ãÚìƒìÅ

(D) ëA¡–ƒøãÚìƒìÅ

64. &A¡àÒüì>àl¡à¹³ài¡à š¤¢®å¡v¡û¡ šøàoãìt¡ \º Î}¤Ò>t¡”| 
[A¡ìÎ¹ Îàì= Î´šA¢¡™åv¡û¡?

(A) K³>

(B) Jàƒ¸NøÒo * Jàƒ¸š[¹¤Ò>

(C) Å«Î>

(D) l¡üšì¹¹ Î¤A¡Ú[i¡
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61. Contour farming is usually

employed in

(A) hilly areas

(B) sandy areas

(C) sea beaches

(D) All of the above

62. In earthworm, self-fertilization

cannot occur due to

(A) protogyny

(B) epigyne

(C) protandry

(D) hypogyny

63. The position of heart in cockroach is 

(A) lateral

(B) dorsal

(C) ventral

(D) central

64. In Echinodermata, water vascular

system is related with

(A) locomotion

(B) capture and transport of food

(C) respiration

(D) All of the above



65. "à¹ìÅàºàÚ *[=A¡à ëA¡à>[i¡¹ Û¡¹ìo ít¡[¹ ÒÚ?

(A) ëA¡àº¸ài¡àì¹º Nø[”‚

(B) A¡>ìNÃàì¤i¡ Nø[”‚

(C) ëKà>àìšàó¡àÒüìÎÎ

(D) l¡üšì¹¹ Î¤A¡Ú[i¡

66. \>>ìA¡àÈ ít¡[¹¹ Î³Ú [¹A¡[´¬ì>\ l¡ü;ìÎW¡A¡¡
"}Å NøÒo A¡ì¹

(A) ë³i¡àìó¡\–I–&¹ Î³Ú

(B) "¸à>àìó¡\–II–&¹ Î³Ú

(C) ëšøàìó¡\–I–&¹ Î³Ú

(D) ëšøàìó¡\–II-&¹ Î³Ú

67. i¡öàX®¡àÎ¢ [‡[¤®¡à\> ëƒJà ™àÚ

(A) Òül¡ü[NÃ>àìt¡

(B) "¸à[³¤àìt¡

(C) ÒàÒül¡öàìt¡

(D) š¸à¹àì³[ÎÚà³-&

68. [>ì³—¹ ëA¡à>P¡[º¡ \¹àÚå\ šøàoãìƒ¹ [>ìƒ¢Å A¡ì¹?

(A) [º\àl¢¡ &¤} A¡Záš

(B) K¹ç¡ &¤} Aå¡³ã¹

(C) [t¡[³ &¤} Òüòƒå¹

(D) šÃà[i¡šàÎ &¤} Aå¡³ã¹

/14 19 [ P.T.O.

65. Ootheca in cockroach is produced

by the secretion of

(A) collateral gland

(B) conglobate gland

(C) gonapophyses

(D) All of the above

66. During gamete formation, the

enzyme recombinase participates

during

(A) metaphase–I

(B) anaphase–II

(C) prophase–I

(D) prophase–II

67. Transverse binary fission occurs in

(A) Euglena

(B) Amoeba

(C) Hydra

(D) Paramecium

68. Which of the following are viviparous 

animals?

(A) Lizard and turtle

(B) Cow and crocodile

(C) Whale and mouse

(D) Platypus and crocodile



69. &A¡A¡-‹àš[¤[ÅÊ¡ ¤ìØl¡à [³l¡üìi¡Åì>¹ ó¡ìº
šø\à[t¡¹ l¡ü;š[v¡ Qi¡ìº t¡àìA¡ ¤ìº

(A) ó¡àl¡ür¡à¹ Òüìó¡C¡

(B) Îºìi¡Åà>

(C) ¤øà>[W¡} [l¡ìÎ–i¡

(D) šøàAõ¡[t¡A¡ [>¤¢àW¡>

70. &A¡[i¡ \àt¡ãÚ l¡üƒ¸àì> ™àìƒ¹ Îå¹Û¡à ëƒ*Úà ÒÚ
t¡à¹à Òº

(A) ëóÃ¡à¹à &¤} ó¡oà

(B) Î³Nø ¤àÑñt¡”|

(C) Ç¡‹å³ày ó¡oàìƒ¹

(D) Ç¡‹å³ày ëóÃ¡à¹àìƒ¹

71. ®¡à¹ìt¡ [>³—[º[Jt¡P¡[º¹ ³ì‹¸ ëA¡à>[i¡
\ã¤î¤[W¡ìy¸¹ Òi¡ Ñši¡ ¹ê¡ìš [W¡[Òû¡t¡ A¡¹à
ÒìÚìá?

(A) šèè¤¢Qài¡

(B) KàìUÚ Î³®è¡[³

(C) Îå–ƒ¹¤>

(D) š[ÆW¡³Qài¡

72. ëA¡à>[i¡ ºåœ¡šøàÚ "U >Ú?

(A) Kiwi šàJã¹ l¡à>à

(B) ³à>åìÈ¹ A¡[GÎ

(C) Îãìº¹ [óÃ¡šà¹

(D) ëQàØl¡à¹ [Ñšº–i¡ "[Ñ‚ (splint bone)
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69. Single-step large mutation leading to 

speciation is also called

(A) founder effect

(B) saltation

(C) branching descent

(D) natural selection

70. In a National Park, protection is

provided to

(A) flora and fauna

(B) entire ecosystem

(C) fauna only

(D) flora only

71. Which one of the following areas in

India is a hot spot of biodiversity?

(A) Eastern Ghats

(B) Gangetic Plain

(C) Sunderbans

(D) Western Ghats

72. Which one is not a vestigial organ?

(A) Wings of kiwi

(B) Coccyx of human

(C) Flipper of seal

(D) Splint bone of horse



73. ¹ç¡Òü ³àìá¹ šø‹à> ë¹W¡> šƒà=¢ Òº

(A) "¸àì³à[>Úà

(B) Òül¡ü[¹Úà

(C) Òül¡ü[¹A¡ "¸à[Îl¡

(D) i¡öàÒü[³=àÒüº"¸à³àÒü> "GàÒül¡

74. ¤¸àìR¡¹ Ç¡yû¡àÅÚ

(A) ¤õìB¡¹ [>³—à}ìÅ¹ Îàì= ë³ìÎà¹[A¡Úàì³¹
ÎàÒàì™¸ ™åv¡û¡ =àìA¡

(B) [yìA¡àoàA¡à¹ ÒÚ

(C) ¤õìB¡¹ l¡ü‹k¢à}ìÅ¹ Îàì= ë³ìÎà¹[A¡Úàì³¹
ÎàÒàì™¸ ™åv¡û¡ =àìA¡¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

75. šå¹ç¡È "à¹ìÅàºà¹ \>>t¡ì”|¹ ëA¡à>ô "}ìÅ
Ç¡yû¡àoåP¡[º \³à =àìA¡?

(A) ëÎ[³>àº ë®¡[ÎìA¡ìº

(B) ³àÅ¹ç¡³ Nø[”‚ìt¡

(C) Ç¡yû¡àÅìÚ

(D) ®¡àÎ [l¡ó¡àì¹ìX

76. ë³ìÎàì\à[ÚA¡ ™åKìA¡ ëA¡à>[i¡¹ Ñ¬o¢™åK ¤ìº?

(A) ³;Î¸

(B) Î¹ãÎõš

(C) šÛ¡ã

(D) Ñz>¸šàÚã
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73. The main excretory product of Rohu

fish is 

(A) ammonia

(B) urea

(C) uric acid

(D) trimethylamine oxide

74. Testes in frogs are

(A) attached to the lower part of

kidney by mesorchium

(B) triangular in shape

(C) attached to the uppear part of

kidney by mesorchium

(D) None of the above

75. In male cockroaches, sperms are

stored in which part of reproductive

system?

(A) Seminal vesicles

(B) Mushroom glands

(C) Testes

(D) Vas deferens

76. Mesozoic Era is called as golden

period of

(A) fishes

(B) reptiles

(C) birds

(D) mammals



77. ‘ÒüìA¡à[ÎìÐ¡³’-&¹ >à³A¡¹o A¡ì¹>

(A) *l¡à³

(B) "à>¢Ê¡ ëÒìA¡º

(C) i¡¸àXìº

(D) ë¹Òüi¡à¹

78. ëA¡à>ô šøàoã[i¡ World Wildlife Fund-&¹
šøt¡ãA¡?

(A) ¤àQ

(B) \àìÚ–i¡ šàr¡à

(C) Ò>¢[¤º

(D) Îàƒà ®¡àºåA¡

79. l¡ü®¡W¡¹ šøàoãìt¡ ëšï[Ê¡A¡>àºã, ë¹W¡>>àºã *
\>>>àºã ë™ Îà‹à¹o šøìA¡àìË¡ l¡ü–µåv¡û¡ ÒÚ t¡àìA¡
¤ìº

(A) šàÚå

(B) "¤Îà¹oã

(C) ³ºàÅÚ

(D) Òül¡üì¹=øà

80. ƒòàt¡ÎÒ A¡t¢¡> * W¡¤¢>™”| "¸à[¹Ð¡i¡ìº¹ ºq¡>
šà*Úà ™àÚ

(A) t¡à¹à³àìá

(B) Î³å‰ ÅÅàìt¡

(C) Î³å‰ "à[W¢¡ì>

(D) l¡üšì¹¹ Î¤A¡Ú[i¡
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77. The term ‘ecosystem’ was coined by

(A) Odum

(B) Ernst Haeckel 

(C) Tansley

(D) Reiter

78. Which animal is the symbol of World 

Widlife Fund?

(A) Tiger

(B) Giant panda

(C) Hornbill

(D) White bear

79. In amphibians, alimentary canal,

urinary and reproductive tracts

open into a common chamber are

called

(A) anus

(B) cloaca

(C) rectum

(D) urethra

80. Bitting and chewing apparatus with

teeth called Aristotle’s Lantern is

found in

(A) starfish

(B) sea cucumber

(C) sea urchin

(D) All of the above



81. "”z@ìA¡àÈãÚ * ¤[Ò@ìA¡àÈãÚ l¡ü®¡Ú šøA¡à¹ š[¹šàA¡ 
ëƒJà ™àÚ

(A) "¸à[³¤àìt¡

(B) š¸à¹àì³[ÎÚàì³

(C) Òül¡üÑš[gÚàìt¡

(D) ÒàÒül¡öàìt¡

82. ë™ ÎA¡º šøàoã ¹v¡û¡ ëW¡àÈo A¡ì¹ ë¤òìW¡ =àìA¡
t¡àìƒ¹ ¤ìº

(A) >¸àìyû¡à[ó¡ºàÎ šøàoã

(B) Òü>ìÎ[C¡ì®¡à¹àÎ šøàoã

(C) Î¸à>P¡Òü[>ì®¡à¹àÎ šøàoã

(D) óøå¡[Kì®¡à¹àÎ¡ šøàoã

83. Î´šèo¢ ëšï[Ê¡A¡>àºã ëƒJà ™àÚ

(A) [ó¡t¡àAõ¡[³ìt¡

(B) ëKàºAõ¡[³ìt¡

(C) ™Aõ¡; Aõ¡[³ìt¡

(D) ÒàÒül¡öàìt¡

84. ë™ ÎA¡º šøàoã¹à \à¤¹ A¡àìi¡ t¡àìƒ¹ šàA¡Ñ‚ºã¹
ëA¡à>ô šøìA¡àìË¡ K¸àÎ[i¡öA¡ ¹Î Û¡[¹t¡ ÒÚ?

(A) ¹ç¡ì³>

(B) ë¹[i¡Aå¡ºà³

(C) *ì¤à³àÎà³

(D) *³àÎà³
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81. Both intracellular and extracellular

diagestions occur in

(A) Amoeba

(B) Paramecium

(C) Euspongia

(D) Hydra

82. Animals feeding on blood are called

(A) necrophilous animals

(B) insectivorous animals

(C) sanguinivorous animals

(D) frugivorous animals

83. Complete diagestive tract is found in

(A) tapeworm

(B) roundworm

(C) liver fluke

(D) Hydra

84. In cud-chewing animals, in which

chamber of stomach gastric juice is

secreted?

(A) Rumen

(B) Reticulum

(C) Obomasum

(D) Omasum



85. Mon treal Protocol-&¹ ºÛ¡¸ Òº

(A) *ì\à>Ñz¹ ‹k}ÎA¡à¹ã ¤Ññ¹ š[¹³ào ÒùàÎ
A¡¹à¡

(B) \ã¤î¤[W¡y¸ Î}¹Û¡o

(C) \ºƒèÈo [>Ú”|o

(D) CO2-&¹ [>@Î¹o [>Ú”|o

86. ëA¡à>[i¡ ³ì>àì\ì>[i¡A¡ š¹\ã¤ã?

(A) [ó¡t¡àAõ¡[³

(B) i¡öàÒüš¸àì>àìÎà³à

(C) "¸àÎA¡à[¹Î

(D) [ºÎ³¸à[>Úà

87. ëA¡àÈW¡ìyû¡¹ ëA¡à>ô ƒÅàÚ &A¡[i¡ ëA¡àìÈ DNA-&¹ 
š[¹³ào 4C ÒÚ ™[ƒ DNA-&¹ šøà=[³A¡ š[¹³ào 
ÒÚ 2C?

(A) G1 &¤} G2

(B) G0 &¤} G1

(C) G1 &¤} S

(D) ëA¡¤º³ày G2

88. ™[ƒ l¡ü;šàƒA¡ \ãì¤ 20 J Å[v¡û¡ "à¤‡ý¡ ÒÚ t¡ì¤
[>³—[º[Jt¡ Jàƒ¸ÅõTìº ³Úèì¹ A¡t¡i¡à Å[v¡û¡ Jàƒ¸
[ÒÎàì¤ šà*Úà ™àì¤?

l¡ü[Š±ƒ ® Òüòƒå¹ ® Îàš ® ³Úè¹ 

(A) 0·2 J

(B) 0·0002 J

(C) 0·02 J

(D) 0·002 J
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85. Montreal Protocol aims at

(A) reduction of ozone-depleting

substances

(B) biodiversity conservation

(C) control of water pollution

(D) control of CO2 emission

86. Which one is a monogenetic

parasite?

(A) Tapeworm

(B) Trypanosoma

(C) Ascaris

(D) Leishmania

87. During which phases of cell cycle,

amount of DNA in a cell remains at

4C level if the initial amount is

denoted as 2C?

(A) G1 and G2

(B) G0 and G1

(C) G1 and S

(D) Only G2 

88. If 20 J of energy is trapped at

producer level, then how much

energy will be available to peacock

as food in the following food chain? 

Plant ® Mice ® Snake ® Peacock

(A) 0·2 J

(B) 0·0002 J

(C) 0·02 J

(D) 0·002 J



89. [>³—[º[Jt¡ ëA¡à>ô šøàoãìt¡ [‡W¡yû¡ãÎ}¤Ò> ëƒJà ™àÚ 
>à?

(A) [º\àìl¢¡

(B) [t¡[³ìt¡

(C) ÒàUì¹

(D) ¤¸àìR¡

90. ëA¡à>ô Îàìº ‘Biodiversity Act of In dia’
Î}Îìƒ šàÎ ÒÚ?

(A) 2002

(B) 1992

(C) 1996

(D) 2000

91. ¹¸àlå¡ºà ÎàÒà™¸ A¡ì¹

(A) Å«Îì>

(B) Î}¤Òì>

(C) šø\>ì>

(D) Jàƒ¸NøÒìo

92. l¡à¹[º}i¡ì>¹ óå¡ìº¹ ët¡àØl¡à ëƒJà ™àÚ

(A) ëºšìi¡à[i¡> ƒÅàÚ

(B) \àÒüìKà[i¡> ƒÅàÚ

(C) š¸àA¡àÒü[i¡> ƒÅàÚ

(D) [l¡ìšÃà[i¡> ƒÅàÚ
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89. Which one of the following animals

has not two circulatory pathways?

(A) Lizard

(B) Whale

(C) Shark

(D) Frog

90. ‘Biodiversity Act of India’ was passed 

by the Parliament in the year

(A) 2002

(B) 1992

(C) 1996

(D) 2000

91. Radula helps in

(A) respiration

(B) circulation

(C) reproduction

(D) feeding

92. Darlington’s bouquet stage is found

in

(A) leptotene stage

(B) zygotene stage

(C) pachytene stage

(D) diplotene stage



93. ¤àÑñt¡ì”| ëA¡à> \ãì¤¹ ®è¡[³A¡àìA¡ ¤ìº

(A) Ò¸à[¤i¡¸ài¡

(B) [>Wô¡

(C) Òü–i¡àì¹A¡Å>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

94. ë™ šø\à[t¡¹ "[t¡ [>A¡i¡ ®¡[¤È¸ìt¡ "¤ºåœ¡ Ò*Úà¹ 
"t¡¸”z ë¤[Å cåò¡[A¡ =àìA¡ t¡àìƒ¹ ¤ìº

(A) ƒà¹ç¡o®¡àì¤ [¤šÄ šø\à[t¡

(B) &ìr¡[³A¡ šø\à[t¡

(C) Û¡Úšøàœ¡ šø\à[t¡

(D) [¤šÄ šø\à[t¡

95. ë®¡ïìKà[ºA¡ * šø\>>Kt¡ ¤à‹à ™à¹ ÎìU
Î´š[A¢¡t¡ t¡à Òº

(A) [¤ìºàšÎà‹>

(B) šø\à[t¡A¡¹o

(C) š™¢àÚyû¡³

(D) šø[t¡ì™à[Kt¡à

96. &ìr¡àì³[i¡öÚà³ ëA¡à>[i¡¹ "à¤¹oã?

(A) ³èy=[º

(B) \¹àÚå

(C) [l¡´¬>àºã

(D) [l¡´¬àÅÚ

97. ëA¡à>ô ëÛ¡ìy &A¡Î}A¡¹ \>ì> "”z@ºÛ¡oKt¡ *
¤[Ò@ºÛ¡oKt¡ ">åšàt¡ &A¡Òü ÒÚ?

(A) [Îl¡üìl¡à"¸à[º[ºA¡ \ã>

(B) [ºU-Î}ì™à[\t¡ \ã>

(C) "Î´šèo¢ šøA¡i¡t¡à

(D) (B) &¤} (C) l¡ü®¡ÚÒü
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93. The role of an organism in ecological 

system is known as

(A) habitat

(B) niche

(C) interaction

(D) None of the above

94. A species facing extremely high risk

of extinction in the immediate future 

is called

(A) critically endangered species

(B) endemic species

(C) vulnerable species

(D) endangered species

95. Geographic and reproductive

isolations are closely associated with

(A) extinction

(B) speciation

(C) succession

(D) competition

96. The endometrium is the lining of 

(A) urinary bladder

(B) uterus

(C) oviduct

(D) ovary

97. Genotypic and phenotypic ratios in

monohybrid cross remain same in

case of

(A) pseudoallelic genes

(B) sex-linked genes

(C) incomplete dominance

(D) Both (B) and (C)



98. "à¹[A¡*šìi¡[¹ìG¹ Î¹ãÎõìš¹ í¤[ÅÊ¡¸ Òº

(A) V-"àAõ¡[t¡¹ ó¡à¹[A¡l¡üºà

(B) W¡eå¡

(C) l¡üƒ¹ìƒÅãÚ šòà\¹

(D) šàºA¡

99. [>³—[º[Jt¡P¡[º¹ ³ì‹¸ ëA¡à>[i¡ [šÃ*i¡ö[š¹
l¡üƒàÒ¹o?

(A) [Òì³à[ó¡[ºÚà

(B) =¸àºàìÎ[³Úà

(C) [ÎA¡º-ëÎº "¸à[>[³Úà

(D) ¤o¢àÞê¡t¡à

100. º¸à´š¤øàÅ ëyû¡àì³àì\à³ š[¹º[Û¡t¡ ÒÚ

(A) Òü–i¡à¹ìó¡\ ƒÅàÚ

(B) \àÒüìKà[i¡> ƒÅàÚ

(C) [l¡ìšÃà[i¡> ƒÅàÚ

(D) ë³i¡àìó¡\ ƒÅàÚ
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98. Reptilian feature of Archaeopteryx is

(A) V-shaped furcula

(B) beak

(C) abdominal ribs

(D) feathers

99. Which one of the following is an

example of pleiotropy?

(A) Haemophilia

(B) Thalassemia

(C) Sickle-cell anaemia

(D) Colourblindness

100. Lampbrush chromosomes are seen

in

(A) interphase stage

(B) zygotene stage

(C) diplotene stage

(D) metaphase stage



GROUP—C / ®¡àK—C

PHYSIOLOGY / Åà¹ã¹[¤ƒ¸à

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

101. Auerbach’s plexus šà*Úà ™àÚ

(A) K¸àìÐ¡öàÒü>ìi¡Î[i¡>àº i¡öàìC¡

(B) ™Aõ¡ìt¡

(C) ¤õìB¡

(D) Òê¡;[šìr¡

102. ³à>åìÈ¹ ¤õB¡ìA¡ ë¹ìi¡öàìš[¹ìi¡à[>Úàº ¤ºà ÒÚ
A¡à¹o &¹à l¡üš[Ñ‚t¡ =àìA¡

(A) ëš[¹ìi¡à[>Úàì³¹ Îà³ì>

(B) ëš[¹ìi¡à[>Úàì³¹ ëšá>[ƒìA¡

(C) ëš[¹ìi¡à[>Úàì³¹ >ãìW¡

(D) ëš[¹ìi¡à[>Úàì³¹ l¡üšì¹

103. ëA¡à>[i¡¹ šøàW¡ã¹ Î¤ìW¡ìÚ šå¹ç¡ ÒÚ?

(A) l¡à> "[º–ƒ

(B) l¡à> [>ºÚ

(C) ¤à³ "[º–ƒ

(D) ¤à³ [>ºÚ
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Direction : Answer the following questions

by selecting the correct option.

101. Auerbach’s plexus is found in

(A) gastrointestinal tract

(B) liver

(C) kidney

(D) heart

102. Human kidneys are called

retroperitoneal because they are

present

(A) in front of peritoneum

(B) behind the peritoneum

(C) below the peritoneum

(D) above the peritoneum

103. Which one has the thickest wall?

(A) Right auricle

(B) Right ventricle

(C) Left auricle

(D) Left ventricle



104. ¤[Ò@"à”z¹ šg¹à[Ñ‚ ëš[Å¹ Î}ìA¡àW¡>\[>t¡
A¡à¹ìo

(A) ¤Û¡KÔì¹¹ "àÚt¡> Î´¶åJ-šÆW¡àƒ "Û¡
¤¹à¤¹ ¤õ[‡ý¡ šàÚ

(B) ¤Û¡KÔì¹¹ "àÚt¡> "S¡ãÚ-šõË¡ãÚ "Û¡
¤¹à¤¹ ¤õ[‡ý¡ šàÚ

(C) ¤Û¡KÔì¹¹ "àÚt¡> Î´¶åJ-šÆW¡àƒ "Û¡
¤¹à¤¹ ÒùàÎ šàÚ

(D) ¤Û¡KÔì¹¹ "àÚt¡> "S¡ãÚ-šõË¡ãÚ "Û¡
¤¹à¤¹ ÒùàÎ šàÚ

105. ó¡¸àìºà[šÚà> >àºã¹ ë™ "}Å [l¡´¬àÅìÚ¹
A¡àáàA¡à[á =àìA¡ ëÎ[i¡ Òº

(A) ÒüÎ=³àÎ

(B) Òü>ó¡à[r¡¤åºà³

(C) Îà¹[®¡G

(D) "¸à´šåºà

106. šà¹[A¡>Î> ¤[o¢t¡ ë¹àìK ë™ [>l¡üì¹ài¡öàX[³i¡à¹[i¡
Û¡Úšøàœ¡ ÒÚ ëÎ[i¡ Òº

(A) "¸à[Îi¡àÒüºìA¡à[º>

(B) "¸à[l¡ö>à[º>

(C) >¹"¸à[l¡ö>à[º>

(D) ël¡àšà[³>
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104. Contraction of external intercostal

muscles causes

(A) increase in the volume of

thoracic chamber in the

anteroposterior axis

(B) increase in the volume of

thoracic chamber in the

dorsoventral axis

(C) decrease in the volume of

thoracic chamber in the

anteroposterior axis

(D) decrease in the volume of

thoracic chamber in the

dorsoventral axis

105. The part of Fallopian tube closest to

ovary is

(A) isthmus

(B) infundibulum

(C) cervix

(D) ampulla

106. In Parkinson’s disease, there is

degeneration of a neurotransmitter

named

(A) acetylcholine

(B) adrenaline

(C) noradrenaline

(D) dopamine



107. ë¹[>> Û¡[¹t¡ ÒÚ

(A) ëšàìl¡àÎàÒüi¡ ë=ìA¡

(B) \àA¡Ð¡àìNÃàì³¹ç¡ºà¹ ëA¡àÈ ë=ìA¡

(C) šàA¡Ñ‚ºã ë=ìA¡

(D) Ûå¡‰à”| ë=ìA¡

108. ëA¡à>[i¡ ó¡àÒü[¤øì>àºàÒü[ÎìÎ ÎàÒà™¸ A¡ì¹?

(A) =ø[´¬>

(B) šÃà\[³>

(C) =øì´¬àšÃà[Ð¡>

(D) ó¡àÒü[¤ø>

109. ‘[ÒB¡à’ ëA¡ Î¤ìW¡ìÚ ®¡àº®¡àì¤ ¤o¢>à A¡¹à ™àÚ
&Òü®¡àì¤ ë™ &[i¡

(A) ¤ºšè¤¢A¡ Òk¡à; [>@Å«àÎ

(B) cò¡àAå¡[>™åv¡û¡ "Î´šèo¢ šøÅ«àÎ

(C) Å«àÎA¡àì™¢¹ Î³Ú >¹³ t¡àºå¹ A¡´š>

(D) ¤ƒÒ\ì³¹ ºÛ¡o

110. Òül¡ü[¹A¡ "¸à[Îl¡ &¤} ">¸ ë™ šƒà=¢[i¡ \³à¹
ó¡ìº ¤õìB¡ šà=¹ ÒÚ ëÎ[i¡ Òº

(A) [Î[ºìA¡i¡

(B) A¡¸àº[ÎÚà³ A¡à¤¢ì>i¡

(C) A¡¸àº[ÎÚà³ "Gàìºi¡

(D) A¡¸àº[ÎÚà³ ëAÃ¡à¹àÒül¡
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107. Renin is secreted from

(A) podocytes

(B) juxtaglomerular cells

(C) stomach

(D) small intestine

108. Which one helps in fibrinolysis?

(A) Thrombin

(B) Plasmin

(C) Thromboplastin

(D) Fibrin

109. Hiccups can be best described as

(A) forceful sudden expiration

(B) jerky incomplete inspiration

(C) vibration of the soft palate

during breathing

(D) sign of indigestion

110. Kidney stones are produced due to

deposition of uric acid and

(A) silicates

(B) calcium carbonate

(C) calcium oxalate

(D) calcium chloride



111. ë¤øàA¡ì¹¹ ë³ài¡¹ ÑšãW¡ "e¡º "¤Ñ‚à> A¡ì¹

(A) óø¡–i¡àº Jr¡ìt¡¡

(B) ëi¡ì´šà¹àº Jr¡ìt¡

(C) ÎåÈå³—àÅãÈ¢ìA¡

(D) l¡àìÚ>ìÎó¡àºì>

112. ÒàÒüìšàó¡àÒü[ÎÚàº Ð¡A¡ Û¡[t¡NøÑ‚ Òìº [>³—[º[Jt¡
ëA¡à>ô Ò¹ì³à>[i¡ Û¡[¹t¡ Òì¤ >à?

(A) ëÎà³àìi¡ài¡ö[š>

(B) "[Gìi¡à[Î>

(C) ëšøàº¸àA¡[i¡>

(D) ACTH

113. [ÒìÐ¡ì¹C¡[³ ¤ºìt¡ "šàì¹Åì>¹ ³à‹¸ì³ ™à¹
"šÎà¹o Qi¡àì>à ÒÚ ëÎ[i¡ Òº

(A) ëšøàìÐ¡i¡ NÃ¸àr¡

(B) ®¡àÎ [l¡ó¡àì¹X

(C) Ñz>Nø[”‚

(D) \¹àÚå

114. Ç¡yû¡àoå¹ ëA¡à>ô "}Å t¡à¹ W¡ºì>¹ \>¸ Å[v¡û¡
Î¹¤¹àÒ A¡ì¹?

(A) šåZá

(B) ³‹¸à}Å

(C) ³ÑzA¡

(D) "¸àìyû¡àì\à³
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111. Broca’s motor speech area is located 

in

(A) frontal lobe

(B) temporal lobe

(C) medulla oblongata

(D) diencephalon

112. If the hypophyseal stalk is damaged, 

which of the following hormones will 

not be released?

(A) Somatotropin

(B) Oxytocin

(C) Prolactin

(D) ACTH

113. Hysterectomy is the surgical

removal of

(A) prostate gland

(B) vas deferens

(C) mammary gland

(D) uterus

114. Which part of sperm provides energy 

for its movement?

(A) Tail

(B) Middle piece

(C) Head

(D) Acrosome



115. ëºàó¡àì¹¹ [Î>ìl¡öà³ ëA¡à>[i¡¹ ÎìU Î´š[A¢¡t¡?

(A) [i¡[>Úà[ÎÎ

(B) ó¡àÒüìº[¹Úà[ÎÎ

(C) "¸àÎìA¡[¹Úà[ÎÎ

(D) ³¸àìº[¹Úà

116. CDRI Òº

(A) ëÎsi¡öàº l¡öàK [¹ÎàW¢¡ Òü>[Ê¡[i¡l¡üi¡

(B) A¡¸àºA¡ài¡à l¡öàK [¹ÎàW¢¡ Òü>[Ê¡[i¡l¡üi¡

(C) ëÎsi¡öàº ël¡Úà[¹ [¹ÎàW¢¡ Òü>[Ê¡[i¡l¡üi¡

(D) A¡ìºà[>Úàº ël¡Úà[¹ [¹ÎàW¢¡ Òü>[Ê¡[i¡l¡üi¡

117. ¹\@[>¤õ[v¡A¡àìº ³åìy ëA¡à>[i¡¹ Û¡¹o ¤õ[‡ý¡ šàÚ?

(A) FSH

(B) STH

(C) LH

(D) MSH

118. ëÑI¡ài¡à³ ™à¹ ÎàÒàì™¸ l¡üƒ¹KÔì¹¹ Îàì=
ë™àKàì™àK ¹Û¡à A¡ì¹ ëÎ[i¡ Òº

(A) Òül¡üì¹=øà

(B) ÒüUåÒü>àº A¡¸àì>º

(C) ®¡àÎ [l¡ó¡àì¹X

(D) &[š[l¡l¡àÒü[³Î
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115. Loffer’s syndrome is associated with

(A) taeniasis

(B) filariasis

(C) ascariasis

(D) malaria

116. CDRI stands for

(A) Central Drug Research Institute

(B) Calcutta Drug Research

Institute

(C) Central Dairy Research Institute

(D) Colonial Dairy Research

Institute

117. At menopause, there is a rise in

urinary secretion of

(A) FSH

(B) STH

(C) LH

(D) MSH

118. Scrotum communicates with

abdominal cavity through

(A) urethra

(B) inguinal canal

(C) vas deferens

(D) epididymis



119. [>l¡üì¹àÒàÒüìšàó¡àÒü[ÎÎ ë=ìA¡ [>@Îõt¡
®¡¸àìÎàìšø[Î> šø‹à>t¡@ ë™ A¡àì\¹ \>¸ ƒàÚã
ëÎ[i¡ Òº

(A) ëÒ>ºã¹ ºåìš¹ ³à‹¸ì³ ó¡¸àA¡àìÂi¡[i¡®¡ \º
ëÅàÈo

(B) ¤à*³¸àì>¹ A¡¸àšÎåìº¹ ³à‹¸ì³ ¤à‹¸t¡à³èºA¡ 
\º ëÅàÈo

(C) ƒè¹¤t¢¡ã Î}¤t¢¡ >à[ºA¡à¹ ³à‹¸ì³
ó¡¸àA¡àºìi¡[i¡®¡ \º ëÅàÈo

(D) [>A¡i¡¤t¢¡ã Î}¤t¢¡ >à[ºA¡à¹ ³à‹¸ì³
¤à‹¸t¡à³èºA¡ \º ëÅàÈo

120. óå¡Îóå¡ìÎ¹ ¤àÚå=ºãP¡[º¹ "à¤¹oã ít¡[¹ ÒÚ

(A) "òàÒüÅàA¡à¹ "à¤¹oã A¡ºà ‡à¹à

(B) Q>A¡àA¡à¹ "à¤¹oã A¡ºà ‡à¹à

(C) Ñz´±àA¡à¹ "à¤¹oã A¡ºà ‡à¹à

(D) ë¹à³Å "à¤¹oã A¡ºà ‡à¹à

121. A¡ìºàÐ¡öàì³ ë™ Òü[³l¡üì>àìNÃà[¤l¡ü[º> ë¤[Å
š[¹³àìo =àìA¡ ëÎ[i¡ Òº

(A) I Gg

(B) I Mg

(C) I Ag

(D) I Dg

122. Òài¡¢ ³à¹³à¹ ™à¹ yç¡[i¡ [>ìƒ¢Å A¡ì¹ ëÎ[i¡ Òº

(A) ¤à[r¡º "¤ô [Ò\

(B) Òê¡ƒ[šìr¡¹ A¡šà[i¡A¡à

(C) ÎàÒüì>à"¸à[i¡öÚàº ë>àl¡

(D) "¸à[i¡ö*ë®¡[–i¡ö[A¡l¡üºà¹ ë>àl¡
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119. Vasopressin released from

neurohypophysis is mainly

responsible for

(A) facultative reabsorption of water 

through Henle’s loop

(B) obligatory reabsorption of water

through Bowman’s capsule

(C) facultative reabsorption of water 

through distal convoluted

tubule

(D) obligatory reabsorption of water

through proximal convoluted

tubule

120. The alveoli of lungs are lined by

(A) squamous epithelium

(B) cuboidal epithelium

(C) columner epithelium

(D) ciliated epithelium

121. The immunoglobulin abundant in

colostrum is

(A) I Gg

(B) I Mg

(C) I Ag

(D) I Dg

122. Heart murmur indicates a disorder

in 

(A) bundle of His

(B) heart valve

(C) sinoatrial node

(D) atrioventricular node



123. W¡àÒüìºà³àÒüyû¡> ít¡[¹ ÒÚ

(A) šàA¡Ñ‚ºãìt¡

(B) [l¡*ìl¡>àì³

(C) Ûå¡‰àì”|¹ KÔì¹

(D) "à[”|A¡ ëA¡àìÈ

124. Ò¸àìÎìº¹ A¡[oA¡à (Hassall’s cor pus cles)
šà*Úà ™àÚ

(A) [šiå¡Òüi¡à[¹ Nø[”‚ìt¡

(B) =àÒü³àÎ Nø[”‚ìt¡

(C) =àÒü¹ìÚl¡ Nø[”‚ìt¡

(D) š¸à¹à=àÒü¹ìÚl¡ Nø[”‚ìt¡

125. yû¡àl¡üì\¹ šøà”zãÚ Ñ£¡ã[t¡ Òº

(A) W¡àšNøàÒA¡

(B) ë¤ƒ>àNøàÒA¡

(C) k¡àr¡à ">å®è¡[t¡¹ =àì³¢à[¹ìÎŸi¡¹

(D) K¹³ ">å®è¡[t¡¹ =àì³¢à[¹ìÎŸi¡¹

126. ëW¡àÚàìº¹ ëš[Å¹ "ÎàØl¡t¡à ™à¹ A¡à™¢A¡à[¹t¡à ¤Þê¡
Ò*Úà¹ ó¡ìº ÒÚ ëÎ[i¡ Òº

(A) i¡öàÒüì\[³>àº Ñ•àÚå

(B) "Aå¡ìºàì³ài¡¹ Ñ•àÚå

(C) ëó¡[ÎÚàº Ñ•àÚå

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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123. Chylomicrons are produced in

(A) stomach

(B) duodenum

(C) lumen of small intestine

(D) intestinal cells

124. Hassall’s corpuscles are found in

(A) pituitary gland

(B) thymus gland

(C) thyroid gland

(D) parathyroid gland

125. End-bulb of Krause acts as

(A) pressure receptor

(B) pain receptor

(C) cold thermoreceptor

(D) warm thermoreceptor

126. Paralysis of jaw muscles is due to

loss of function of

(A) trigeminal nerve

(B) oculomotor nerve

(C) facial nerve

(D) None of the above



127. "¸à[l¡ö>àº A¡ìi¢¡G "àQàt¡šøàœ¡ Òìº ™à¹ Û¡¹o
[¤[Q—t¡ ÒÚ >à ëÎ[i¡ Òº

(A) A¡[i¢¡Îº

(B) "¸àìÁ¡àìÐ¡¹o

(C) "¸à[l¡ö>à[º>

(D) A¡[i¡¢Î>

128.  šå¹ç¡È ³à>åìÈ¹ Ç¡yû¡¹ìÎ šø‹à>t¡@ =àìA¡

(A) óøå¡A¡ìi¡à\ &¤} A¡¸àº[ÎÚà³

(B) NÃåìA¡à\ &¤} A¡¸àº[ÎÚà³

(C) DNA &¤} ëi¡ìÐ¡àìÐ¡¹o

(D) ¹àÒüì¤à\ &¤} ši¡à[ÅÚà³

129. ë™ ë®¡C¡¹¤à[Òt ë¹àK šø[t¡ì¹à‹ A¡¹à¹ \>¸ šåAå¡ì¹ 
K¸à´¬å[ÎÚà ³àá áàØl¡à ÒÚ¡t¡à Òº

(A) ³¸àìº[¹Úà

(B) ël¡Uå

(C) [W¡Aå¡>P¡[>Úà

(D) l¡üšì¹¹ Î¤A¡Ú[i¡

130. ³à>åìÈ¹ ëA¡à>ô "[t¡[¹v¡û¡ °ç¡ošƒ¢à \¹àÚå¹ "®¡¸”zì¹ 
°ç¡oìA¡ Ç¡[A¡ìÚ ™à*Úà¹ Òàt¡ ë=ìA¡ ¹Û¡à A¡ì¹?

(A) ëA¡à[¹*>

(B) "¸àºà>i¡ìÚÎ

(C) Aå¡Îå³=[º

(D) "¸à³[>Ú>
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127. Injury to adrenal cortex is not likely

to affect the secretion of

(A) cortisol

(B) aldosterone

(C) adrenaline

(D) cortisone

128. Seminal plasma in human males is

rich in

(A) fructose and calcium

(B) glucose and calcium

(C) DNA and testosterone

(D) ribose and potassium

129. Gambusia fish is introduced into

pond to check vector-borne disease

such as

(A) malaria

(B) dengue

(C) chikungunya

(D) All of the above

130. Which extraembryonic membrane in 

human prevents desiccation of the

embryo inside the uterus?

(A) Chorion

(B) Allantois

(C) Yolk sac

(D) Amnion



131. ël¡Òüi¡àì¹¹ ëA¡àÈP¡[º šà*Úà ™àÚ

(A) "[Û¡šìi¡

(B) "K¢à> "¤ô A¡¹[i¡ìt¡

(C) Òül¡ü[i¡ö[A¡l¡üºàìÎ

(D) ëÎì¤[ÎÚàÎ Nø[”‚ìt¡

132. ë>óø¡ì>¹ [>³—[º[Jt¡ "e¡ºP¡[º¹ ³ì‹¸ ëA¡à>[i¡ìt¡ 
šøìÚà\>ãÚ šƒàì=¢¹ šå>@ìÅàÈo Î¤ìW¡ìÚ ë¤[Å
Qìi¡?

(A) ëÒ>[º¹ ºåìš

(B) [>A¡i¡¤t¢¡ã Î}¤t¢¡>à[ºA¡àìt¡

(C) ƒè¹¤t¢¡ã Î}¤t¢¡>à[ºA¡àìt¡

(D) ëNÃàì³¹ç¡ºàìÎ

133. Î¤ìW¡ìÚ Î[yû¡Ú ó¡¸àìKàÎàÒü[i¡A¡ ëÅ«t¡ ¹v¡û¡A¡[oA¡à
ëA¡à>P¡ìºà?

(A) Òül¡ü[Îì>à[ó¡º &¤} [ºì´£¡àÎàÒüi¡

(B) [>l¡üìi¡öà[ó¡º &¤} Òül¡ü[Îì>à[ó¡º

(C) [>l¡üìi¡öà[ó¡º &¤} ³ì>àÎàÒüi¡

(D) [ºì´£¡àÎàÒüi¡ &¤} ³¸àìyû¡àó¡à\

134. [º¤à¹Aå¡ì>¹ Jòà\ Û¡¹o A¡ì¹

(A) ÎàB¡àÎ &ì–i¡[¹A¡àÎ

(B) i¡àÚà[º>

(C) &–i¡àì¹à[yû¡[>>

(D) ëA¡àìº[ÎìÐ¡àA¡àÒü[>>

/14 36

131. Cells of Deiters occur in

(A) retina

(B) organ of Corti

(C) utriculus

(D) sebaceous glands

132. In which of the following regions of

nephron does maximum

reabsorption of useful substances

take place?

(A) Henle’s loop

(B) Proximal convoluted tubule

(C) Distal convoluted tubule

(D) Glomerulus

133. The most active phagocytic white

blood cells are

(A) eosinophils and lymphocytes

(B) neutrophils and eosinophils

(C) neutrophils and monocytes

(D) lymphocytes and macrophages

134. Crypts of Lieberkuhn secrete

(A) succus entericus

(B) ptyalin

(C) enterocrinin

(D) cholecystokinin



135. ëA¡à>[i¡ìA¡ ¤à=¢ Ò¹ì³à> ¤ìº?

(A) FSH

(B) LH

(C) "[Gìi¡à[Î>

(D) ëšøàº¸àA¡[i¡>

136. ëA¡à>ô ¹v¡û¡¤àÒ ¤õB¡ ë=ìA¡ ¹v¡û¡ ¤àÒüì¹ [>ìÚ ™àÚ?

(A) ¤õB¡ãÚ [Å¹à

(B) ¤õB¡ãÚ ëšài¢¡àº [Å¹à

(C) "”z³¢åJã l¡üš‹³[>

(D) ¤[Ò³å¢Jã l¡üš‹³[>

137. A¡¸àìi¡ìA¡àºà³àÒü> Òº

(A) ël¡àšà[³>

(B) "¸à[l¡ö>à[º>

(C) >¹"¸à[l¡ö>à[º>

(D) l¡üšì¹¹ Î¤A¡Ú[i¡

138. A¡à[l¢¡ÚàA¡ Òü³šàºìÎ¹ Îõ[Ê¡ &¤} &¹ š[¹¤Òì>¹
Î[k¡A¡ yû¡³ìA¡ ëƒJàì>à ™àÚ ë™®¡àì¤ t¡à Òº

(A) SA ë>àl¡ ® AV ë>àl¡ ® šà¹[A¡>[\
t¡”ñ ® [Òì\¹ t¡”ñP¡Zá

(B) SA ë>àl¡ ® šà¹[A¡>[\ t¡”ñ ® AV

ë>àl¡   ® [Òì\¹ t¡”ñP¡Zá

(C) SA ë>àl¡ ® AV ë>àl¡ ® [Òì\¹
t¡”ñP¡Zá ® šà¹[A¡>[\ t¡”ñ  

(D) SA ë>àl¡ ® šà¹[A¡>[\ t¡”ñ ® [Òì\¹
t¡”ñP¡Zá ®  AV ë>àl¡   
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135. Which one is called birth hormone?

(A) FSH

(B) LH

(C) Oxytocin

(D) Prolactin

136. Which blood vessel takes blood away 

from kidney?

(A) Renal vein

(B) Renal portal vein

(C) Afferent arteriole

(D) Efferent arteriole

137. Catecholamine is

(A) dopamine

(B) adrenaline

(C) noradrenaline

(D) All of the above

138. The initiation of cardiac impulse and 

correct sequence of its conduction is 

represented as

(A) SA node ® AV node ® Purkinje

fibres ® bundle of His

(B) SA node ® Purkinje fibres ® 

AV node ® bundle of His

(C) SA node ® AV node ® bundle of 

His ® Purkinje fibres

(D) SA node ® Purkinje fibres ® 

bundle of His ® AV node



139. ëÎì¹àÎà Òº

(A) ëšï[Ê¡A¡>àºã¹ Î¤ìW¡ìÚ ë®¡t¡ì¹¹ "à¤¹oã ™à 
šàt¡ºà ë³ìÎàì=[ºÚà³ ‡à¹à ít¡[¹

(B) ëšï[Ê¡A¡>àºã¹ Î¤ìW¡ìÚ ¤àÒüì¹¹ šøàW¡ã¹ ™à
šàt¡ºà ë³ìÎàì=[ºÚà³ ‡à¹à ít¡[¹

(C) Ûå¡‰àì”| l¡üš[Ñ‚t¡ "à[”|A¡ Nø[”‚

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

140. A¡[o¢Úà šø[t¡Ñ‚àšì> Îàó¡º¸ºàì®¡¹ A¡à¹o Òº
A¡[o¢Úà

(A) ÎÒ\º®¡¸

(B) ÎÒì\ Î}¹Û¡o A¡¹à ™àÚ

(C) ¹v¡û¡ Î¹¤¹àÒ[¤Òã>

(D) ÎÒì\ ëÎºàÒü A¡¹à ™àÚ

141. &A¡[i¡ ëºàìA¡¹ [i¡ìi¡>àÎ ë¹àìK "àyû¡à”z ÒìÚìá
³ì> ÒìZá, &ìÛ¡ìy t¡à¹ ëƒìÒ ">àyû¡³¸t¡à KìØl¡
ët¡àºà¹ \>¸ [A¡ šøìÚàK A¡¹à ÒÚ?

(A) ³õt¡ \ã¤àoå

(B) šà¹ó¡³¢l¡ "¸à[–i¡¤[l¡

(C) *ÚàÒül¡ ëÑšA¡i¡öà³ "¸à[–i¡¤àìÚà[i¡A¡

(D) ƒå¤¢º \ã¤àoå
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139. Serosa is the

(A) innermost layer of wall of

alimentary canal made of a thin

mesothelium

(B) outermost layer of wall of

alimentary canal made of a thin

mesothelium

(C) intestinal gland found in small

intestine

(D) None of the above

140. Cornea transplantation is successful 

as cornea is

(A) easily available

(B) easily preserved

(C) without blood supply

(D) easily stiched

141. A person likely to develop tetanus is

immunized by administering

(A) dead germs

(B) performed antibodies

(C) wide spectrum antibiotics

(D) weakened germs



142. ë™ "¤Ñ‚àÚ Ç¡yû¡¹ìÎ Ç¡yû¡àoå ">åš[Ñ‚t¡ =àìA¡
t¡àìA¡ ¤ìº

(A) š[ºÑšà[³¢Úà

(B) "¸à\åÑšà[³¢Úà

(C) "¸àÑšà[³¢Úà

(D) *[ºìKàÑšà[³¢Úà

143. ™J> ¹ìv¡û¡ "oåW¡[yû¡A¡à¹ Î}J¸à Ñ¬à®¡à[¤ìA¡¹
tå¡º>àÚ A¡³ =àìA¡ t¡J> ëƒJà ëƒÚ

(A) =øì´¬àÎàÒüìi¡à[ÎÎ

(B) [ºl¡üìA¡àìš[>Úà

(C) šà¹[šl¡ü¹à

(D) [ºl¡üìA¡[³Úà

144. [³i¡öàº A¡šà[i¡A¡à "¤Ñ‚à> A¡ì¹

(A) l¡à> "[º–ƒ * l¡à> [>ºìÚ¹ Î}ì™àKÑ‚ìº

(B) ¤à³ "[º–ƒ * ¤à³ [>ºìÚ¹ Î}ì™àKÑ‚ìº

(C) óå¡Îóå¡ÎãÚ ‹³[>¹ ³åìJ

(D) ³Òà‹³[>¹ ³åìJ
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142. The condition of absence of sperm

cells in semen is called

(A) polyspermia

(B) azoospermia

(C) aspermia

(D) oligospermia

143. When platelet count in blood is less

than normal count then occurs

(A) thrombocytosis

(B) leukopenia

(C) purpura

(D) leukemia

144. Mitral valve is located

(A) in between right auricle and

right ventricle

(B) in between left auricle and left

ventricle

(C) in the opening of pulmonary

artery

(D) in the opening of aorta



145. &A¡[i¡ [¤Åøà³¹t¡ Ñ•àÚåt¡”ñìt¡

(A) [t¡>[i¡ Na +  ëA¡àìÈ¹ ë®¡t¡ì¹ šøì¤Å A¡ì¹
&¤} ƒåÒü[i¡ K + ¤àÒüì¹¹ [ƒìA¡ ™àÚ 

(B) [t¡>[i¡ Na +  ¤àÒüì¹¹ [ƒìA¡ ™àÚ &¤} ƒåÒü[i¡  
K +  ëA¡àìÈ¹ ë®¡t¡ì¹ šøì¤Å A¡ì¹

(C) [t¡>[i¡ Na +  ¤àÒüì¹¹ [ƒìA¡ ™àÚ &¤}
[t¡>[i¡¡  K +  ëA¡àìÈ¹ ë®¡t¡ì¹ šøì¤Å A¡ì¹

(D) ëA¡à> Na–K pump ë>Òü

146. *[l¡¹ ëš[Å¤ºÚ [>Ú”|o A¡ì¹

(A) "N—̧ àÅÚ-[šv¡>à[º¹ [l¡*ìl¡>àì³ šøì¤Åš=ìA¡

(B) Îà‹à¹o [šv¡>à[º¹ "N—¸àÅÚ-[šv¡>à[ºìt¡
šøì¤Åš=ìA¡

(C) "N—¸àÅÚ>à[º¹ "N—̧ àÅÚ-[šv¡>à[ºìt¡
šøì¤Åš=ìA¡

(D) [Î[Ê¡A¡>à[º¹ Îà‹à¹o [šv¡>à[ºìt¡
šøì¤Åš=ìA¡

147. ³à>¤ìƒìÒ ƒàƒ (ring worm) Îõ[Ê¡ A¡ì¹

(A) [>³àìi¡àl¡

(B) ®¡àÒü¹àÎ

(C) áyàA¡

(D) ¤¸àA¡[i¡[¹Úà
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145. In a resting nerve fibre

(A) 3 Na +  are pumped into the cell

and 2 K + are pumped outwards

(B) 3 Na -  are pumped outwards for

every 2 K + pumped into the cell

(C) 3 Na +  are pumped outwards

and 3 K + are pumped into the

cell

(D) There is no Na–K pump

146. Sphincter of Oddi guards

(A) the opening of hepatopan-

creatic duct into the duodenum

(B) the opening of common bile

duct into the hepatopancreatic

duct

(C) the opening of pancreatic duct

into the hepatopancreatic duct

(D) the opening of cystic duct into

the common bile duct

147. Ringworm in human being is caused 

by

(A) nematodes

(B) viruses

(C) fungi

(D) bacteria



148. ™à¹ "®¡à¤\[>t¡ A¡à¹ìo ¹ìv¡û¡ A¡¸àº[ÎÚàì³¹ ³àyà 
ÒùàÎ šàÚ ëÎ[i¡ Òº

(A) =àÒü¹[G>

(B) A¡¸àº[Îìi¡à[>>

(C) š¸à¹à=¹ì³à>

(D) A¡¸àº[Îìi¡à[>> * š¸à¹à=¹ì³à> l¡ü®¡ÚÒü

149. Ûå¡‰àì”|¹ ëÅìÈ¹ [ƒìA¡ l¡üš[Ñ‚t¡ º[ÎA¡à A¡ºàP¡[º¹ 
Î³[Ê¡ìA¡ ¤ìº

(A) [®¡[º

(B) ëšÚàÎ¢ š¸àìW¡Î

(C) ¹ç¡Kã (Rugae)

(D) A¡¹ìÚl¡ ëšÃGàÎ

150. 1 gm [Òì³àìNÃà[¤> ë™ š[¹³ào "[Gì\>
š[¹¤Ò> A¡ì¹ t¡à Òº

(A) 13.4 ml

(B) 0.4 ml

(C) 1.34 ml

(D) 20 ml
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148. Blood calcium level is lowered by the 

deficiency of

(A) thyroxine

(B) calcitonin

(C) parathormone

(D) both calcitonin and

parathormone

149. Aggregates of lymphoid tissue

present in the distal part of small

intestine are known as

(A) villi

(B) Peyer’s patches

(C) Rugae

(D) choroid plexus

150. The amount of oxygen carried by

1gm of haemoglobin is

(A) 13.4 ml

(B) 0.4 ml

(C) 1.34 ml

(D) 20 ml



SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà¡
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READ THE FOL LOW ING IN STRUC TIONS CARE FULLY :  

[>³—[º[Jt¡ [>ìƒ¢Åà¤ºã ®¡àìºà A¡ì¹ šØl¡æ> :
1. Out of the four alternatives for each question, only one circle for the correct answer is to be darkened

completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

šø[t¡[i¡ šøìÅ—¹ l¡üv¡¹ [ÒÎàì¤ ë™ W¡à¹[i¡ [¤A¡¿ ëƒ*Úà "àìá t¡à ë=ìA¡ Ç¡‹å³ày Ç¡‡ý¡ l¡üv¡¹[i¡¹ ëšø[Û¡ìt¡ OMR l¡üv¡¹šìy ëƒ*Úà ¤õv¡[i¡ A¡àìºà ¤ºšìÚ–i¡
A¡º³ ‡à¹à Î´šèo¢¹ê¡ìš A¡àìºà A¡ì¹ [W¡[Òû¡t¡ A¡¹ìt¡ Òì¤¡ú &A¡¤à¹ l¡üv¡¹ [W¡[Òû¡t¡ A¡¹à ÒìÚ ëKìº t¡àìA¡ "à¹ š[¹¤t¢¡> A¡¹à ™àì¤ >à¡ú

2. The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.

š¹ãÛ¡à=¢ã¹à ëA¡àì>à®¡àì¤Òü OMR l¡üv¡¹šy[i¡ ®ò¡à\ A¡¹ì¤> >à¡ú OMR l¡üv¡¹šìy ëA¡àì>à¹A¡³ ƒàK A¡ài¡à ¤à ³”z¤¸ ëºJà ™àì¤ >à¡ú š¹ãÛ¡à=¢ã¹à tò¡àìƒ¹
ë¹àº >à´¬à¹ l¡üv¡¹šìy [>[ƒ¢Ê¡ A¡¹à \àÚKà áàØl¡à ">¸ ëA¡àì>à \àÚKàÚ [ºJì¤> >à¡ú

3. Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR l¡üv¡¹šy &¤} šøÅ—šìy¹ ¤¸¤Òàì¹ Îà[¤¢A¡ Ît¡A¢¡t¡à "¤º ¬́> A¡¹ìt¡ Òì¤¡ú ëA¡àì>à "¤Ñ‚àìt¡Òü (³å‰o yç¡[i¡ * š‡ý¡[t¡Kt¡ yç¡[i¡ áàØl¡à) OMR l¡üv¡¹šy
* šøÅ—šy šàìÂi¡ ëƒ*Úà ™àì¤ >à¡ú

4. The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

š¹ãÛ¡à=¢ãìA¡ "¸àìi¡ì“¡X Åãi¡-& tò¡à¹  OMR l¡üv¡¹šìy¹ >à´¬à¹ &¤} šøÅ—šìy¹ >à´¬à¹ [>®å¢¡º®¡àì¤ [ºJìt¡ Òì¤¡ú
5. Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile

phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

š¹ãÛ¡à=¢ãìA¡ "¸àl¡[³i¡ A¡àl¢¡ &¤} ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ áàØl¡à ">¸ ëA¡àì>à áàšàì>à ¤à ëºJà A¡àK\, šk¡> * ³å‰o\àt¡ Îà³Nøã, ëš\à¹, ë³à¤àÒüº ëó¡à>,
">¸ ëA¡àì>à¹A¡³ ÒüìºC¡ö[>A¡ [l¡®¡àÒüÎ [>ìÚ š¹ãÛ¡à Òìº/A¡ìÛ¡ šøì¤Å A¡¹ìt¡ ëƒ*Úà Òì¤ >à¡ú

6. Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

š¹ãÛ¡à Òìº Òü>[®¡[\ìºi¡¹ A¡tõ¢¡A¡ [A¡}¤à š¹ãÛ¡à ëA¡ì–ƒø¹ [®¡t¡ì¹ š¹ãÛ¡à-Î}[ÅÃÊ¡ "à[‹A¡à[¹A¡ A¡tõ¢¡A¡ ƒà[¤ A¡¹à Òìº šøìt¡¸A¡ š¹ãÛ¡à=¢ã tò¡à¹ "¸àl¡[³i¡ A¡àl¢¡ *
ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ ëƒJàìt¡ ¤à‹¸ =àA¡ì¤>¡ú

7. No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her 
seat.

ëÎ–i¡à¹ Îåšà[¹>ìi¡>ìl¡–i¡ ¤à Òü>[®¡[\ìºi¡¹-&¹ [¤ìÅÈ ">å³[t¡ áàØl¡à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òìº tò¡à¹ ¤Îà¹ Ñ‚à> š[¹¤t¢¡> A¡¹ìt¡ šà¹ì¤> >à¡ú
8. Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after

taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

š¹ãÛ¡à=¢ã[ƒKìA¡ Òü>[®¡[\ìºi¡ì¹¹ ëƒ*Úà "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹ìt¡ Òì¤, šø=³¤à¹ š¹ãÛ¡à Òìº tò¡àìƒ¹ "àÎ> NøÒìo¹ š¹ &¤} [‡t¡ãÚ¤à¹

Òü>[®¡[\ìºi¡ì¹¹ [>A¡i¡ OMR l¡üv¡¹šy \³à ëƒ*Úà¹ Î³ìÚ¡ú
9. The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet

to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.

"¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹à &¤} A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡¹-&¹ [>A¡i¡ l¡üv¡¹šy \³à ëƒ*Úà ¤¸t¡ãt¡ ëA¡àì>à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òº t¡¸àK A¡¹ìt¡

šà¹ì¤> >à¡ú ™[ƒ ëA¡àì>à š¹ãÛ¡à=¢ã "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ >à A¡ì¹> t¡ì¤ [t¡[> tò¡à¹ OMR l¡üv¡¹šy \³à A¡ì¹>[> ¤ìº Ko¸ Òì¤ &¤} t¡à
">å[W¡t¡ A¡à™¢ [ÒÎàì¤ ‹¹à Òì¤¡ú

10. Use of any type of calculating device is prohibited.

ë™ ëA¡àì>à ‹¹ì>¹ A¡¸àºAå¡ìºi¡ì¹¹ ¤¸¤Òà¹ Î´šèo¢¹ê¡ìš [>[È‡ý¡¡ú
11. The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the

Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

š¹ãÛ¡à Òº/A¡ìÛ¡¹ ³ì‹¸ š¹ãÛ¡à=¢ã¹ "àW¡¹o ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à ">å™àÚã W¡à[ºt¡ Òì¤¡ú Î¤ ‹¹ì>¹ ">å[W¡t¡ A¡à™¢ ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à
">å™àÚã [>[ƒ¢Ê¡ Òì¤¡ú

12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.

ëA¡àì>à "¤Ñ‚àìt¡Òü šøÅ—šy &¤} OMR  l¡üv¡¹šìy¹ ëA¡àì>à "}Å ëáòØl¡à ¤à "àºàƒà A¡¹à ™àì¤ >à¡ú
13. On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the

Hall/Room. The candidates are allowed to take away the Question Booklet with them.

š¹ãÛ¡à ëÅÈ Ò*Úà¹ šì¹ š¹ãÛ¡à=¢ã "¤Å¸Òü tò¡à¹  OMR l¡üv¡¹šy A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡ì¹¹ A¡àìá \³à ëƒì¤>¡ú š¹ãÛ¡à=¢ã¹à šøÅ—šy[i¡ tò¡àìƒ¹ Îàì=
[>ìÚ ë™ìt¡ šàì¹>¡ú
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